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Offline QA (Run2024 website)
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Making reference plots is ongoing



Cluster size ( DACO=30 ) Run46400~48400- total 4494820 files
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Cluster size (DACO0=35)
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Reference plot (DAC():?:()LZg
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Reference plot (DAC()=35L2g
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Compare between DAC0=30 and 35
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Test web
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This is QAHtmITest, everyone can make plots here.
It looks the same on the offcial website.



Study of 2 peak

hist_size3
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Study of 2 peak
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Study of 2 peak
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Bad : part of small peak
good : part of big peak
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Info of magnet

In SQL database Run with Magnet OFF

dag=> SELECT DISTINCT magnet_on FROM magnet_info;
magnet_on

dag=> SELECT * FROM magnet_info where magnet_on='f";
runnumber | current | magnet_on

+ +
| 4.2794992e+07 |
| 4.278944e+07 |
| 4.2789204e+07 |
| 4.289526e+07 |
| 4.916517e+06 |
| 7.983226e+06 |
| 1.1399286e+07 |
I 144667 |
| 1.575927e+06 |
| 2.574119e+06 |
| 3.899875e+06 |
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I

(2 rows)

t: ON
f: OFF

4.538153e+06
6.306959%e+06
1.4843864e+07
1.9457984e+07
2.5441912e+07
2.981594e+07
3.453278e+07
3.978356e+07
225797

DACO0=300 &4 (A L 7=Run
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Crossing angle

Run # Crossing Angle (mrad)

EEE D DW-ERD IEsmall peak (DAC0=35) IZfIETIFoN2dEH D

T Crossing angleD &%= X (T TWARIEESWVWL D ICER RS

51274 1.5
51240 from 0 to +1.5 mrad
51200 0

o T LA L. DACO=30(Run46400~48400) X [RIERDIEIRH E
— o 71’( W3 75)“crossing angleZER DO 7/-., FIOMETH

51002- +1_5mrad Ab llﬁz 75\
50962- 0

. s +1.5mrad

50885 - 50027

50853-50863
50650-
50612 -

50595 - 50607

50558 - 50571

50545 - 50554

50510 ~ 50536
50465- 0

50436 ~ 50459 0 and +1.5 mrad

o o0oo0oo0coo0cooo




DACO0=30
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Back up



How to select physics Run

In SQL database

phnxrc@opc@:~$ psql daq
psql (14.7)
Type "help" for help.

dag=> select * from run WHERE runtype = 'physics';
runnumber brtimestamp ertimestamp

I
+
| physics | 2024-06-19 13:15: 2024-06-19 13:26:

| physics | 2024-07-20 02:08: 2024-07-20 02:42: 19339925
| physics | 2024-06-04 01:48: 2024-06-04 01:49: 378367
| physics | 2024-05-20 21:39: 2024-05-20 21:47: 5882834
| physics | 2024-08-07 ©05:58: 2024-08-07 06:24: 12219895
| physics | 2024-05-20 21:52: 2024-05-20 22:04: 5122924
| physics | 2024-06-19 13:39: 2024-06-19 13:41: 2361
| physics | 2024-06-19 13:27: 2024-06-19 13:37: 15978
| physics | 2024-06-04 01:51: 2024-06-04 01:52: 286444
| physics | 2024-05-20 22:11: 2024-05-20 22:12: 200488
| physics | 2024-07-20 02:45: 2024-07-20 02:46: 865467
| physics | 2024-06-19 13:54: 2024-06-19 14:05: 10420
| physics | 2024-06-04 01:54: 2024-06-04 02:42: 20344952
| physics | 2024-06-19 13:43: 2024-06-19 13:53: 10636

(SIS IS IUSTC IS IS IS TIGOIS BS IS IS

You can get text file of database in your directory using this code

phnxrc@opc@:~/INTT/SHISHIKURA/data$ psql -d daq -o physics_run.txt -c "SELECT runnumber FROM run WHERE runtype = 'physics' AND runnumber BETWI
N 46400 AND 48400"

phnxrc@opc@:~/INTT/SHISHIKURA/data$ 1s

physics_run.txt

-d : select database, -o: text file name, -c: select data




Offline QA seems to show only physics run plot

Offline QA plot file (run48000~48100) SQL database(only physics run)

HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048000-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048001-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048002-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048006-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048007-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048008-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048009-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048020-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048022-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048026-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048027-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048065-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048066-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048067-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048068-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048069-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048070-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048072-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048073-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048076-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048077-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048078-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048079-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048080-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048081-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048082-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048083-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048084-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048085-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048088-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048089-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048090-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048095-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048096-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048097-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p004-00048098-00001 .
HIST_DST_TRKR_CLUSTER_run2pp_new_2024p005-00048099-00001 .

/sphenix/data/data02/sphnxpro/clusterhist/run_48000_48100

select runnumber from run WHERE runtype = 'physics' AND
runnumber BETWEEN 48000 AND 48100 order by runnumber ASC

runnumber

48097

48098
48099
48100




How to select by DACO value

phnxrc@intt@:/logdisk/phnxrc/INTT/top_pedestal$ grep -e DACO -e EDT top_pedestal_2024_07_*_inttl.log | grep -v DACA

top_pedestal_2024_07_31_inttl.
top_pedestal_2024_07_31_inttl.
top_pedestal_2024_07_31_inttl.
top_pedestal_2024_07_31_inttl.
top_pedestal_2024_07_31_inttl.
top_ pedestal 2024_07_31_ 1ntt1.

top_pedestal_2@24_07_31_1nttl.
top_pedestal_2024_07_31_inttl.
top_pedestal_2024_07_31_inttl.
top_pedestal_2024_07_31_inttl.
top_pedestal_2024_07_31_inttl.

top_pedestal_2024_07_31_inttl.
top_pedestal_2024_07_31_inttl.

:DACO 30 3478262240
:Wed 31 Jul 2024 01:
:DACO 30 3478262240
:Wed 31 Jul 2024 01:
:DACO 30 3478262240
:Wed 31 Jul 2024 01:

:Wed 31 Jul 2024 04:
:DACO 35 3478262320
:Wed 31 Jul 2024 05:
:DACO 35 3478262320
:Wed 31 Jul 2024 06:
:DACO 35 3478262320
:Wed 31 Jul 2024 06:

Oxcf5211e0

:24 PM EDT

Oxcf5211e0

:23 PM EDT

Oxcf5211e0

:10 PM EDT

:50 PM EDT

Oxcf521230

:42 PM EDT

Oxcf521230

:06 PM EDT

Oxcf521230

:20 PM EDT

Genki taught me how to get information, thank you very much!

This time is when we changed
DACO value from 30 to 35



How to select by DACO value

This time is when we changed DACO value from 30 to 35
top_pedestal_2024_07_31_inttl.log:Wed 31 Jul 2024 04:11:50 PM EDT

top_pedestal_2024_07_31_inttl.log:DACO 35 3478262320 -> Oxcf521230

In SQL database

runnumber | runtype

physics
physics
physics
physics
physics
junk
49754 | junk
49755 | junk

brtimestamp

2024-07-31
2024-07-31
2024-07-31
2024-07-31
2024-07-31
2024-07-31
2024-07-31

00:08:11
00:23:13
00:36:45
00:41:26
01:46:05
01:52:11
02:49:30

| 2024-07-31 04:13:45

Make text file by database

psql -d dag -o physics_run.txt -
BETWEEN 49753 AND 51700"

I
+
|
I
|
|
I
|

| 2024-07-31 04:13:59 |
| 2024-07-31 04:14:53 | 2024-07-31 04:38:36 |
| 2024-07-31 04:40:15 | 2024-07-31 04:40:35 |

ertimestamp

2024-07-31
2024-07-31
2024-07-31
2024-07-31
2024-07-31
2024-07-31
2024-07-31

00:19:11
00:33:26
00:39:08
01:42:56
01:50:04
02:47:12
02:59:48

4975135
4516181
1204535
31183735
1811712
28622534
5495129
1701
1093416
83437

‘ | checked run number from datetime

dag=> select * from run WHERE brtimestamp BETWEEN '2024-07-31 00:00:00' AND '2024-07-31 23:59:59';
| updatetimestamp | eventsinrun |
————————————————————— et

We changed DACO value from 30 to 35
from run49753

AND runnumber



Fitting size by size
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Fitting size by size

hist_sizeb

hist_size5
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Fitting size by size
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Gauss fitting doesn’t work well
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Fitting size by size
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How to fit well (Cheng-Wei method) hankyour
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______ U P 3®Get mean x value of the group

@Get width x value of the group
®)Set fitting range by @ and @
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vector<double> group_info = find_Ngroup (histlD);
double group_mean = (group_info[2] + group_info[3]) / 2.;
> group_width = (group_info[3] - group_info[2]) / 2.;

double fit_ratio = 1.2;
TF1 xgausFit = new TF1("gausFit", "gaus", histlD->GetXaxis()->GetXmin(), hist1lD->GetXaxis()->GetXmax());
histlD->Fit(gausFit, "NQ", "", group_mean - group_width x fit_ratio, group_mean + group_width *x fit_ratio);




How to fit well (Cheng-Wei method) hankyour

1000

900

800

700

600

500

400

300

200

100

@ hist_size1

']

IIII||III‘IIII’IIII‘HII’HII’IIII’I|I|’IIII‘II
|

L

‘ hist_size1
Entries 254380

Mean 0.5404

Std Dev 0.03534

@DGet the maximum bin
2Get a group of FWHM (over @/2)

--------------------------- 3®Get mean x value of the group

@Get width x value of the group
®)Set fitting range by @ and @

vector<double> group_info = find_Ngroup (histlD);

double group_mean = (group_info[2] + group_info[3]) / 2.;

double group_width = (group_info[3] - group_info[2]) / 2.;

double fit_ratio = 1.2;

TF1 xgausFit = new TF1("gausFit", "gaus", histlD->GetXaxis()->GetXmin(), histlD->GetXaxis()->GetXmax());
histlD->Fit(gausFit, "NQ", "", group_mean - group_width x fit_ratio, group_mean + group_width *x fit_ratio);




@ hist_s J]
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b ®Set fitting range by @ and @
1005— Fitting range
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vector<double> group_info = find_Ngroup (histlD);
double group_mean = (group_info[2] + group_infol[3]) / 2.;
double group_width = (group_info[3] - group_info[2]) / 2.;

double fit_ratio = 1.2;
TF1 xgausFit = new TF1("gausFit", "gaus", histlD->GetXaxis()->GetXmin(), hist1lD->GetXaxis()->GetXmax());
histlD->Fit(gausFit, "NQ", "", group_mean - group_width x fit_ratio, group_mean + group_width *x fit_ratio);




Fitting size by size
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Fitting size by size
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Fitting size by size
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Summary

* | modified the reference plot
e Cluster distribution is different between DAC0=30 and 35
« Need to change the reference plot depending on the DACO value.

Ongoing

« Adding the reference plot to offline QA website is ongoing.
| succeeded in getting the reference plot onto test web thanks
to Xudong.

« | am studying about the split distribution
- Magnet ON/OFF?



